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APTITUDE & MENTAL ABILITY SOLUTIONS

1. Find the area of the iron sheet required to prepare a cone 24 cm high with
base radius 7 cm

a. 704 cm? b. 702 cm? c. 700 cm?2 d. 668 cm?

24 Q5.5 o wyupb USE P 7 6F.16 GetemiL gwib SHwmflds ChHemeuuwlmer
@D HBL196T LIFLIL SHT6wIsh

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?

Explanation:

Here, height of a cone (h) =24 cm
Radius of the base, r=7 cm

* Slant height! = Vré+h?
24%+72 = J576+49

= 4625 = 25 tm
“ Area of the iron sheet = Total surface area of the cone
= mrl+mr? = mr(l+r)

7(25+7)

= 22 x 32 = 704 cm?

2. The sum of the series 31 + 33 + ...+ 53 is
31 +33+....+53 aai3 OFHTLfeir Fn(BHeO 6TevT601?
a. 729 b. 341 c. 504 d. 604
Explanation:

31433 4 - + 53

=1+3+5+--+53)-(1+3+5+---+29)

= 27° —15% = 504.
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3. At what rate of interest compound interest per annum will Rs.640 amount to
Rs.774.40 in 2 years
a.8% b. 9% c. 10% d.11%

eI Fnl (B eullguiled eTelienl FHAIHHHMBE H.640 DFH BTewiB  LewIHBH6N60
(h.774.40 Sy&1D?

a. 8% b. 9% c. 10% d. 11%
Explanation:
Given: P =3 640, A =3 77440, n =2 years, r = ?
7o 1- i A = p _r.y
We know, A P(1 + 100 )

77440 = 640(1 + —Y

77440 _—
640 (1+ 1()())
77440 _ .
61000 _ (' *100)
121 _ r
100 (l = l()())
1y _ !
(10) = (1 +7050)
11 _ r
I( L+ 100
N
100 10
r _— 11 —-10
100 10
A
100 10
_ 100
’ 10
Rate r = 10% per annum.

4. A circus tent is cylindrical to a height of 3 m and conical above it. if the base
radius is 52.5 m and slant height of the cone is 53 m, find the area of canvas
required to make the tent
a. 315 zm’ b. 3097.5 = m’ c.2782.5 = m’ d. 29975 =m’

QUH FTdhHerd FLMJomeid 3 16 o wgipeien o (henenullel g &nlbl| DIEDLOHSHTH
GuTeliB  6uIYeUSHIVIGTENEH. DIHGIT DIQUILISES DTID 52.5 15, Smiblledt FTuugd 53 1S
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oeNed, SDIBHELITID mdedh Copmauwner HHHTer  Hlewluler  LFLemLS
&H6mT1h D (HD

a. 315 zm’ b.3097.5 zm’ c.2782.5 zm’ d. 2997.5 zm’
Explanation:
Area of the canvas = Curved Surface Area of Cylinder and Cone

=2xrh+xrl = 72'r(2h+l) :7Z><52.5((2><3)+53)
= 7x52.5%x59=3097.5m"

Six men working 10 hours a day can do a piece of work in 24 days. In how
many days will 9 men working for 8 hours a day do the same work?

a. 10 days b. 15 days c. 20 days d. 25 days

6 oLenidel @b Geuemevenwl HTOeNTaIBISE 10 wewll GBI GCouensv OFUIFH 24
BT &6aMe0 (PQLILIT. 9 SLe0iskell, BTOenTaiBehE 8 el GHIb Gauemev GCFUISHT6L,
T5HHM6T BT H6illed Hi6IGaIme0emUI (LPIQLILIT?

a. 10 B a6l b. 15 el
C. 20 [BTL el d. 25 m el
Explanation:

M, xD, xH,=M, xD, xH,
6x10x24 = 9xD, x8

6x10X24 _ 5
s =20d
OX8

ays

A can finish a job in 20 days and B can complete it in 30 days. They work
together and finish the job. If Rs.600 is paid as wages, then the share of A and
B

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

A aeaanm gmm Gauemevenws 20 HIL SHerflevid, 1o elelaT 98%h Geuemevenul 30
BT Sefleud (ipliur. Smeurpd Cabhg Geuemev GCFUIZH, SieICAIMeVMU  (LPI9&HS)
h.600 3 HHIB6T QUHEITWTHL GUBBETT elefled A BmIdD B &1 umig, eresten?

a. 240, 360 b. 300, 300 c. 360, 240 d. 400, 200

Explanation:
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Work done by Ain one day = -21—0
Work done by B in one day = %
Ratio of their work = 516 : % . (Multiply by
= ;— : %‘ =3a2 ‘ (Multil?ly":'_- :

Total share = F600

A’s share —g x 600 = 7 360 - (Since the total share is 3 +2 =3

B’s share = ;Xm = 7240

Hence, A’s share is 360 and B’s share is 240.

If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the
value of x.

a.25 b. 24 c. 30 d. 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 Seumnilest ggmafl 31 erefled X-651 LOFHIIL] 6T6sT601?
a. 25 b. 24 c. 30 d. 26

Explanation:

Given average, AM.= 5 =31
The values are 18, 41, x, 36, 31,24, 37, 35,27, 36

2%

n

X =

, 31_18+41+x+36+31+24+37+35+27+36
10 "

285+ x

Sl= e 5810

= 285 +x
310-285 = x

DQSZ:X

x= 25
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10.

11.

9’ x18* .

The value of STIS
a. 2 b. 4 C. 16 d. 32

3 9 81 243
T ;ig -6 gl
a. 2 b. 4 C. 16 d. 32

3 9 81 243
Explanation:

4
3x(9x2)t  3'X(3X2) 3x3Fx2t 32x2' 2 16
316 = 316 = 316 = 316 = 3_4 :5
The cube root of 0.027 is
a.3 b. 0.003 c.0.03 d. 0.3
(0.027) &51 sevr eLpeold
a.3 b. 0.003 c. 0.03 d. 0.3
Explanation:
3 ﬂ = i =
100 10

Complete the series 1 ZA, 3 YB, 6 XC, 10 WD, ?

a.14 VE b.15 UE c.12 VE d. 15 VE
1ZA,3YB, 6 XC,10 WD, ? ettt auflengenwi Bylis

a.14 VE b. 15 UE c.12 VE d. 15 VE
Explanation:

1+2=3 3+3=6 6+4=10 10+5=15 15

Z Y X W \Y%

A B C D E

~. 15VE

The product of two numbers is 1600 and their H.C.F. is 5, the L.C.M. of the
number is

a. 320 b. 1605 c. 1595 d. 8000

Om eewiselar QUmHBHL OCFHTens 1600 WBEID Dieveusener L5.0UT.eu 5  elefled
elemiberllest L6.&1.1D. SGLD.

a. 320 b. 1605 c. 1595 d. 8000

Explanation:
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12.

13.

LCMxHCF=PRODUCT OF TWO NUMBERS
LCMx5 =1600
LCM= @ =320

In how many years will a sum of Rs.1,600 amount to Rs.1,852.20 at 5% per
annum compound interest?

a.3 b. 4 c.5 d. 6

h.1,600 oeig 5% ewiB (B eully aiHd CHTWIH 61HHMT Lol (HH6IMe0
(h.1,852.20 &SlewlL_H@GHLD

a.3 b. 4 c.5 d. 6

Explanation:

Given: P =% 1600, A =X 1852.20, r = 5% per annum, » = ?

We know, A = P(l+ W)
1852.20 = 1600(1 + -2
1852.20 105 V"
1600 — ( 100 )
160000 = (ﬂ)
9261 _ (2__1)"
8000 20
21y = (21Y
(55) = (30)
. n = 3years
Simplify
F(HSHGHB
D) (2,5 s |51 1
(_Ej_{“(? 7j+8 {5 2 4”
a. 221 b. s c. 54 d. 22
60 60 60 60
Explanation:
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)—<I—:—(zx~5—j+8— 5- —l
3 7 4
(10 (21
371 21 +8- 4 4 [Inner most bracket is giver

preference]

I WL
_2)} [Bracket is given preference]

?J 21 x4
B B
L3 21 4 4 3 21 4
R :_1 - 1x2_1_+8_1_9_ (i) 21+8+:_,} )
~ i3 ) 10~ 4713 10 4 [ [LCM of 10 and 4 is 40]
(1) _J21x4 8><40 19x10| ' |
= 3) liox4 T1x40  ax10 :
‘ ‘Hint :
PR O {84 @_@} [:l) (214) ~1x40 214x3 5
- (37140 40 40 3 )40 )7 3xa0  20x3 6o|§61(1)
_ 40 642 682  -341 =zdll | T
© 120 1200 120 60 60 s
14. Given the Pie Chart. Obtain the pass percentage of student who passed in 1st
class.
Passed in Sef:ond Claés Passed in Firet Class
Passed i.n Third Class
a.35% b. 30% c. 10% d. 25%

@by eefeu’ L alenssl

QuBMB6UTH

7 | Page

UL SSHeJ([BHEH  LOTewiauTHe  (1pHe0  auGLly BaTad]

ol aN(pSHHT({H 616076017

PH: 044-24339436, 42867555, 9840226187




15.

16.

W5 agldd Csied
@rain_md aug0de Gaitéd :

(Eg;fréé\ Quprgauiser
(g:éﬂg)mb aEUde Ggfr_éeﬂ
a.35% b. 30% c. 10% d. 25%
Explanation:
Percentage of students who passed in First class = cas 100 =25%

The principal amount triples itself at 8% per annum over a certain time. Find
the number of years

a. 20 years b. 25 years c. 30 years d. 35 years

@ GPUILL oFtagd 8% ey aiesHHed ThHewen SLe(HHeMed  LpeiIs
DL BISTGSLD 61601 SIT6wIS.

a.20 eumLmIGeT b.25 eu@bLmisel C. 30 eu@Lmisen d. 35 eubLMISeN
Explanation:

= [351} x 100 = 25years

What number should be subtracted from each of the numbers
54,71, 75 and 99 so that the remainders may be proportional?

a. 1 b.2 c.3 d. 6

54, 71, 75 B@ID 99 6IGIB 6IGIEUT(H 6TENIDIL NID 61[HFH  6T6NIN6NISH  &HLISHDHTEL
DIH&T BFHD 10 alBHHHH60 AHBGHLD?

a. 1 b.2 c.3 d.6
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17.

18.

19.

Or

Take from option if N=3
(54-3) (71-3) (75-3) (99-3)
51 68 72 96
Product of Extremes = Product of Means

51x96 =68x72

.3 should be subtracted
Find the G.C.D. of a’-1 and a*-1
a. a*-1 b. a+1 c. aldl d. a-1
a’-1, a’-1 @eir L5.GUT.6u. HT6NIb.
a. a*-1 b. a+1 c. a-1 d. a-1
Explanation:

a’ —1:>(a—1)(a2 +a+1)
a’ —1:>(a+1)(a—1)
GCD=a-1

What percent is 5 grams of 1 Kg?

a.5% b.1% c.0.5% d.0.2%
1 &Beur Aymim@ 5 &gmb % etesrent?

a.5% b. 1% c.0.5% d.0.2%
Explanation:

x100=0.5%

Required Percentage = 1000 gm

Area of a square is % hectare. The diagonal of the square is

a. 250 metres b. 100 metres c. 5042 metres d. 50 metres
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QhH FHTHH LITLILIGT6) % JHBIT, 616N60 FHITHH 6N cLenevall L LD
AGLD.

a.250 B L b. 100 18 LiT c. 5052 L d.50 UL
Explanation:

1 hectare = 10,000 m?2

1/2 hectare = 5,000 m?2

so, Area of square = 5,000 m?

so, Length of side of the square a=+/5000 =+/2500x2 =502 m

since, length of diagonal of square = av2 = 50¥2 x+/2 = 50x2 =100m = 100 m

20. The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are
in the ratio

a.27:75 b.27:125 c.81:625 d. 729 : 15625
B Camenmiseier LBLUTLILTESE6T 9 : 25 6B aldSleHHHed 2 6lengl. Dieumsleo
&6 OleNeHeillen aldlHd

a.27:75 b.27:125 c.81:625 d. 729 : 15625
Explanation:
Solution
Surface area of sphere = 4nr? : 4nRS= 9 . 25(square root)
Y R = ; 5
4 4
Volumes of sphere = 3 77 : —7R’
=133 : 53
=27 : 125

21. Find the difference between simple interest and compound interest for a sum
of Rs. 8,000 lent at 10% p.a. in 2 years.
a. Rs. 70 b. Rs. 80 c. Rs. 90 d. Rs. 100
ah. 8,000-5@ 10% ey eissHd Brewih MIBHeMD HDLHGD gl (B
AU 1RSHGD, S QU PHGD 2 66N AGHHUTFHMSHH SHTEWIH.
a. em. 70 b. 5. 80 c. em. 90 d. em. 100
Explanation:

Difference between Compound Interest and Simple Interest for 2 years = l’(ﬁ):

_ 10 2
= 8000 ( 100)

] 2
= 8000 (W)

— 8000 XL x

1
10 W—?SO
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22.

23.

24.

I a+b b+c ¢

Zu =k, then the value of k is

c a
a.( b.1 c.2 d. a+b+c
a+b:b+c:c+a:k srenfled k-6t 10y

c a b
a.0 b.1 c.2 d. a+b+c
Explanation:

a+b=ck b+c=ak c+a=Dbk
add these three Equations = 2(a+b+c) =k (a+b+c)

2(at+b+c)
> k=—’=2
(at+b+c)

The ratio of boys to girls in a class is 4 : 5. If the number of boys is 20, then the
number of girls is

a. 15 b. 20 @25 d. 26

QM uGLULIed LoTewIaNTHeIT, LTewialWTHeT elslgdd 4 5 menieuTHerlenn
oTeutemlbend 20 6T6all60  LOMevoTalULITleoT 6760016001 Eb6M B

a. 15 b. 20 c.25 d. 26

Explanation:

Boys 4 unit = 20

Girls 5 unit =?

205
4

= 25

A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on
the other he loses 10%. Find his gain or loss percent on the whole

a. Loss % =90% b. Gain % = 5%

c. Loss % =1% d. Loss % =7%

Bm DBEBYBMIHIB6T @AIOeUTTemBUID h. 594-&@& ehHauT IBBIT. GeleuTm
alppHed  10% Seoruapd  BmHed  10%  BILAPD SDouBHEG — GBULL G
QTHHHH60 DIUHDBE GBULL B6UTUID HIVVH BL L FHAIHID HTewIS.

a.plL gxaisbd =90% b. @y Fgaisd =5%
c. Bl L Foaisd =1% d.prL gseisd =7%
Explanation:

i y=22Y 5 10-10-10 21 - 1% Loss
100 100
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25.  Simplity :

(3°) =(2)°

(24 )_2 x34x4—2
a. 71 b. 71 C. 6z
9 8 9
. (3°) "x(2*)”
H(HBSHD -
(2*) " x3*x47
a. 71 b. 71 C. 6z
9 8 9
Explanation:
30x2° 212 % 3% 2° 64 1

=
28 %3 %2

12 | Page
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